ok

{10 1d

?

L bl ac
L cls |

Soru isareti “?" olan yere asagidakilerden
hangisi gelmelidir? ;

Which of the following table should come In
place of the question mark (7} 7

Hafpwre w3 MumeyxasauHoix rabauuy,

KOTOPAA [OMKHHE HAXOAMTHCA Ha MECTE
adawa ",

A'I ¥ &

K d] B —
2538 ot
al |w

gapai=i]
o :|
2 07 |

=]

ol

Yukaridaki tabloda sayilar belirll bir kurala
gbre yaulmistir, Buna gore g =0

in the table above the numbers are wr':t’rgq_p
accarding to a rule. Accordingly, a + b=

T SN LTI T

Bl | ) T

oo Lo F-I'-F' L

B suilieyraianuon Tabnuue hona .u;aﬁh_l
no onpeaeneHHoMy NR3IsUy. HMexops w3
aroro satigure g+ b ="

A) 5
B) 8
Ef 12
D) 13
E) 21

4. |
b axe | aye | 2za

B ALC 1#'-—\

178 1A T j

B) 2¥8.
€) 1XB
D) 1¥C
E) 2YA



xy.z €', x.2 =7 x clmakilzere,
yukandaki tabloya gbre y =1

in the muitiplication table above, what is-
thh vatue of N =

;_ Myere. X, ¥, ZEET, x.2 = z.x.
MooaA U2 BuilUeyYKazanHol mabauys

HaWAHTE ¥ .

Al L :
B2 5%
)3 i
0)4 o)
£} S e

. 38 =

-' |.I:'l|"| L R L T
"E“ ,r"q.f_""-n. "

5 11. 11, 43, ab
’ruhndahlmﬂa-r bir kurala gbre
dizlimistir, Buna gore a + b =7

The numbers ahove are sequenced
according to-a rule, Accordingly, 4 =2

BulweyrazaHbie Sueta ABHn B
W e ONpeAEREHROMY
.m Hmunnm;mn mﬁ,n.mﬂ
;#-Hl :-‘.?

Soru isareti 2" olan yere asafidakilerden
hangisi gelmelidir?

Which of the following shapes should
come in place of the guestion mark {?) 7

HalinuTe M3 HUHEYHAIIHHBIX Tafanuy,
HOTOPAA AOAMHA HAXOAHTHCR HA mecre

aHaKa ",

"D
5
Y
WAVAN



5

:h'-.l

L

|

Soru isaretl “?" olan yere asagidakilerden
hangisi gelmelidir?

Which of the following shapes should come
in place of the question mark (7) 7

Hakgure ul HHmeyRazanHen Tabauwy,

KOTOP2A OOMHEHD HIXOAMTLER Ha MEBCTE
EhdRE P,

o
i

Yece

o

o

9.1, Sorulan asagpdaki verilen ilskiye 9re.
covaplayimiz. |
Answer the guestions 9, 10 ang 11in

accardance with the relationship In the ghaen
balow.

Orpersre wa ponpocs 9-11 DcHOBMBZACE Ha
HUMEYRATANHEIC AAHHEIR.

]

Her soru birbirinden bagimsiz olarak
cevaplanacaktir,

Each question is to be answered
indepedently:

OTEeTLTE Ha HaWmA Bonpoc B
STAEARHOCTH,

=l

Yukandaki sekiller a, b, c ve d harfleriyle
gasterilen diirt tamsaynyi igeren baz
kslemilere gare dizenlenmistir. Harflerin
gosterdigi sayilar her soruda farkh olabilir
fakat, bunlarla yapilacak Islemler her
soruda aynidir.

The figure above has been organized
according to various operations using four
integers represented by the letters, a, b, c
and d. The integers represented by the
letters may change from question to
yuestion, but the operations 1o be done
remain the same.

BolleyKaIAHHBIE PUrYPLI ADHE NpK
NOMOUL ONEPILHR HAT LEABIMK
urenamu 3, b, cwd. Onepauun 8
HONPOCIX OAMHAKOREE , HO YMCA
cooTRETCTBYIOWMe ByKBam moryT GeiTs
p:].l.l-ll:rlhm.

A I 3 -

ad



Tabloda & isleminin gérevi
belirlenmistir.

| =72 -haq-& The oparation of @ is established in the

table;
L 'T-F-f Jedcrave onepauud Aada B Tabnaye.
e g&*"'f:k b‘;-t'- -Qrnekler (Examples, Npumepni) :
el s #'E'-‘ﬂ-“ | a®c=a
x = " 11

114 hite=c
|
| 2 codeEad=?
.
B b
C)e
D) d
E) e

13, a @d Dx)=e
Ra=T7

A a
B) b

Ilr]:i'i



I e s s, P el R RS -l b LA TR

oy TR
| b alan Imrﬂaﬂtm olusmaktadir. Buna

{gbre hangi seklin gevre uzuniugu en

biiyiktir?
All of the followlng figures is composed

from squares with side length 1 6r.

Accordingly, the circumferential length of
the figure which is the largest?

HuseyrazaHHbe $uryphl COCTIBNEHB! WA
OAWHAKOBLIX KBaapaTtoe. Hamabii
KBAZPAT MMEeET CTopoHY aavwnon | by,
Mexoas u3 sroro nalaute gurypy,
HOTOPAA MMELT MIKCHMANLHLIH
TIEPMMETR.

A) & '_j 5
R e R

8

c}) _Fl _:l_|

o CFH -

il e 1B
=

EHER

E) 1

513

el

16.

1__11.
; b B S U
) Rl e e s S
y S ol A L S e i L |
1 30 A4 RO augeded

Yukanda A ve'V yerine gelmesi gereken
sayilars bulunuz,

Find the numbers that correspond to A
and V. the above.

Haigure yucna, KOTOpbie COOTHETCTRYIOT
AWV,

A

-

Al
B
€)
o)
E}

\%
B8
4

14
16
.

L e Bl B b

1% x ® + A = ip
| - =
oM ox & = N
vl =7

Yukandaki esitliklerde @, A ye B
sembolleri birer sayinin yerine
kullandmastir.

Buna gére B semboliiniin degeri kactir?

The symbols ® , & and M are represent
the numbers in the equalities above.,
Therefore, what is the value of the symbol
of W ?

BrlUEYKIZIHHEX paseHcTeax Gbinm
MCNONBICHAHB! BMECTO YHCEN CHMBOR
A, ® v B .

MExoAR W3 ITOFO HARAMTE IHAYCHME
eumpona W,

A) 5
g 7
c) 8
D)9
E) 10



e s 5T

L T Ty

Yukaridaki teraziler I, A& , @ tiiriinden
agirhiklar kullanilarak dengelenmistir.

The scales above are balanced with weights
of various solids shown as I A |

BoiweyxazaHHbIe BECH HAXOAATCA B
pasHosecHu npu nomouww rupei B A

BBk muﬂmm'ﬂ“' ‘;:3 A
m

i H- HII-I:-I!I-!- llunnu
'mmmu e Lohr & ' |

Buna gére, yukandaki terazinin denge

durumunda olmasi icin sag kefeye A tor
agirliktan kag tane getirilmelidir?

. Therefore, how many weight of A
—y should put in to the right pan of scale above
N to balance it?

Hcxoma 13 3Toro, ANA paBHOBECHA
BLILIEYHAIAHHLIX BECOB, CHONLKO MMpb A

HYHHO NOAOKHTE HA NPARYIO CTOPOHY
BeCcos.

I Al
' B) 2
c) 3
D) 4
E) 5

N ~.4L_.!,|j -.‘- |




19.

i

e

4
| Lk

Sekilde *7* yerine asajhidakilerden hangisi
gelmelidir?

Which of the following figures should come
In place of the question mark (¥} in the
table above?

HaHyio M3 HMKEYRAZAHHBIX $Uryp ,
HYHHO MOCTIBUTL BMECTO 3HAKA Bonpoca?

B

o
[ S}

S K B X B3

A

20,

Yukaridaki sekil ok yBniinde 240°
déndiirliliiyor. Buna gbre asapidaki
sekillerden hangisi olusur?

The figure above is revolve around 240° in
the direction of arrow. Which of the
following figures appears?

BnilueyxazaHHan GHrypa BpawasTca no
HANPABAEHKMIO CTREARK Ha 2407 . Mcxoas
W3 3TOFD KaHaA M3 HHMEYRAIZAHHBIX DHIyp
NOAYUMTCA.



;.m. E"‘-"i isleminin sonucu kactir?

What‘.fs the result of the operation
1A
£
Kakoe YHCNo NOAYYHUTLCA B PERYALTaTe i
onepauHH LL;
A) 1
B) 2
)3
D} 4
E} 5

?.

23, AB iki basamakli pozitif bir tamsayi olmak
Uzere,

e HiABJ=AX B4, A28 ise

N HAB]=A+8, A<H ise

bigiminde tammianmastir.

El- a3 H{AB)=13 oldufuna gbre, asafidakilerden
b hangisi AB clamaz?

H{AB) is defined as
HiABl=AxB+1, [f AzB,

HIAE=A+8 if  A<H
icate; h'rthﬂrrﬂwﬁeare feradica il ;
h the processes of thelr where AB js the two-digit positive integer.

When H{AB)=13, which on the followings
cannot equal to AB ?

- Nycto AB ABAARETCA ABYXIHANHBM WEABIM
NOIHTHBHBIM YHCAOM W

HfAB)=AxB+1, ecnu A2B,
H{ABJ=A+B, ecnu A<B .

Ecnm HAB)=13, Waxoe M3

Hummmﬂuﬂu:qumn Gyner

j :mnmmam.ﬁﬂ‘f

A} 43+

B) 49

C) 62

D) 67

08




4.

Mﬂﬁmﬂaﬂ asapdaki tabloya gore
cevaplayimi,

Answor questions 24 and 25 in accordance
with thie talite given below.

OraeTsTe Ma aonpocs 24w 25
OEHOBLIAARCE HA HUMBYKAZAHHYR

. Tahamuy.

e S

e~

& |
Yukandaki sayl tablosunda 1,2,3, 4,5, 6,
7.8 ve § saylanm satir, situn ve kdzegen

toplamian esit olacak sekilde
yerlestirilecektir.

The numbers 1,2, 3,4,5,6,7,8and 3 wiill
he placed in the table above that each'sum
af numbers in row, column and diagenal
are egual to each other,

B BbilueyrazanHoi Tabanie BMECTO

My CThiX KBAAPITOR PAIMELIEHEL YWMLa i,
2,3,4,5,671.8n3. I HMCnA
PABMELLEHDL TAKKM cnocoboM , 410
CYMME ITHX HUCEA B CTPOKAX , B cronfax W
AMATOHANAX PABHEL

Herhangl bir satir, situn ya da kojegen
toplami kagtir?

Whiat ks the sum of any rows, cofumns of
diagonals?

Halgure cymmy 8 cronbax, & cYpoKax M
B [HATOHANAN, KOTOPGIE paBHbL PAEHEY
coboi.

A} 12
B} 14
c} 15
D} 18
Ej 20

25, Sayilar istenilen sekilde ﬁr{wﬁﬂlﬂlnﬂ

2b.

artadaki sayl hangisidir?

When the nu m‘::le'r‘;plamd by deﬂﬁ_!d |
manner.; whatisthe number In the middle:

Hakoe YMEND HAXOAWTER B cEpeAHHE
Tabnuuybi?

A 2
g} 3
c) s
B} &
E) 7

\. guruptaki sizchklerin harflen birer
rakamla gosterilerek [l gruptaki sayilar
elde edilmiztir. Soru isaretiyle belirtilen
sGzchifiin hangi sayryla ghsterilecefini
bulunuz.

The numbers in group 1Estand for the
words in group |, when each lettar has
heen coded with a specific numeral. Find
tha number which corresponds fo the
word Indicated by the guestion mark.

EyHBbI CAOS Nepeod rpynnbl
oboIHANAIOTCA N0 OOHOH Ukdpe H B
pesynbTaTe NOAYHIIOTCA YKona BTOPOM
rpynnke, HARAMTE SYHEND BMECTO
BONPOCHTEABHONG IHAKE, HOTOPBIC
COOTRETCTRYET YHAZAHHOMY CAOBY.

| I
SEMA] | b
vakt! least sof7

KEDI 5349 20961

k! o

LT 5

MIDE

KARE| |

KARE=?

A} 2963
B) 5349
) 5ag7
n) 357
E} 6789



7853

SR
I 2G4="2

1 esithite 00 Isaretinin gbrevi
belirlenmistir. Buna gdre 1. esitlikte sory
isaretinin yerine asafidakilerden hangisi
gelmelidir?

in the first equation, the function of Bis
established. According to the function,
which of the following does the equation
mark stand for in equation |17

g

| Hﬂ- iy [M -@'{E@)?._ﬂﬁ.

Onepauvu = aelcTRYOT NO Npasuay
YHaZaHHOM B paseHCTEE Nog HoMepom 1.
Hawoe ycno Gyaer amecro
BONPOCHTENRHOID 3HAKa BO BYGPOM
paBeHcToe.

A) 12
8) 10
c) 8
D) &
E}:2




7 | I i
o HF'__..* -
77y ] A E] 5
7] [El[o]_ [oelt DiBLE
[alE] <
I (f WV v v

|~ F

Numarah pargalardan dért tanesi
dindirulmeden yan yana getitilerek

|
F = T 1 / A | E
B D o P gl INEEEES
B

yukaridak! sekil olugturulmustur, Bu Yulkaridaki sekiler bir kiptn agihimiartdir.
islemde hangi parga kullandimamistir? Hanglsinde A taban ise B dste gellr?

The figure above has been formed by four The shapes above describes the unfolding
of the numbered shapes by putting side by of a cube. If A 15 the base of the cube, in
side without fotating. Which plgce has not which shape, B 15 the top of the Tu e

heen used in this process? BuieyKasaHHEIE GHTYPB! RERRKITCR

C WCNONGIOBIHWEM SETRIPHER pacHpuiTeiM KyGosm. B Mo #Hr'ln:lﬂ A
IAHYMEPOBIHHBIX Prryp, el wx ByaeT HWmmed ochoaol, a B mepRHER
BPELEHWA, HO C© WX MPHAMBIKEHREM, OEHOBOM?

OBpAFYETCA BhIlURYKasAHRAR MIYPa.

I
Haian IaHYMEPOBAHHAR QHIYRa HE i1 A "!'E‘I :
MENONLI0BaHA NPk 210k onepayHu? E;' o
A o)
B} Ul Gy
£
0} v g o e

E) v (EmLAK | kemaL | LkEAM I |E":".=.-w, ]

vukaridaki kelimeler belll bir kurala gore
siralanmigtar. X yerine asagrdakilerden
hangisi gelmekidir?

The words above are ordered with respect
to the special rule, Which of the following
should match X = ¢

BriuoyRa3aH il CRO0BE DCHORBESACH Ha
ONpPEAENEHHOE NpaBrna AAHRE B
NOCREAoEATEARHOCTH. HTo CooTRETCTYET
pameeTo X W3 HEHe AaHHbET

A) KALEM
B ALMEK
C} KEMAL
D} ALMKE
£} MLKAE

e 12
{3015 _ATAYGS



Yukarda verlhnqa:i:ﬂ boyal kilpler 7"

boyunca bir ustan bir uca kadar
oyulmustur, Kalan kip sayis: kagtir?

'ﬁ:ﬁuqn above s build up with identical

cubss: The figure is carved through the
shaded cibes 1l the end. Find out the
number of the cubes left.

B BOHIEYHAIAHHOR SHIYPE KPALUEHHGIE
KyGbl yAANEHS € ORHOTO HOHUA A0
Apyroro Konya. Cronbko kyGon acranocs?

A} 50
B} 53:
C) 54
D} 62
E) &4

Il sekilde X ve ¥ nin yerine gelmesi gereken
harfler bulunuz.

Find the letters that comespand to % and v
inFlguredl,

Wﬂ'waﬂﬁﬁpﬂgmﬂmnu BbiTh
mx“YHmmHmth.
S 4

o vz
w . m oo

34. All bulundugiu yerden 4 birim batiya, 2

birim glineye ve 2 birim doguya Bitmisi,
Abhmet 4 birim kuzeye, 2 birim doguya, 3
birim glineye gitmistir. Alf ile Ahmet'n
baslangig noktalan ayn; oldufuna giire
aralarmdaki mesafe kag birim olmustye?

Ali moves 4 units towards West, 2 units to
south and 2 units to east from his original
position. Ahmet moves 4 units towards
North, 2 units to east and 3 unito in Soath,
If Ali and Ahmet were located at the Same
position initially, what Is the final distance
between them?

ANH W3 HAYANEHOR TOYKM ARHMEHMA
ABHMHYACA HA 4 eAMHKMLLL HE 32nag, HE 2
EAHHHLUD H3 K0T W HA 2 e MHHL M3 BOCToN,
AXMET H3 HAYANLHOK TOWKH JBUMERNE
ABHHYACHA HA 4 8QMHWLBE H3 CeBep, Ha 2
CAMHHLU H3 BOCTOK M H3 3 ¢ QMHMLELL Ha wor,
Ecnu Anm u Axmer 06a ARMHYAMCS Wz
OAHON HAYANLHOH TOUKH , TO CHOABKO
EAWHUL COCTIRNAET PACCTORHME MERY
HUWMHT

A) 4
B} 5
£ 6
b} 7

E} 13



g 1]

-
£

n
F

sekil 1, bir kenan « 5 | uzunlujunda oian

|
bir kiipten bir kenan — olan bir kilplin
]

cikanimastyla olugmus, I hacminde bir
cisimdir. 1l kGpiindn hacmi ¥, olsun.
Vekl, =ik=l

The diagram | above shows.a sofid with
volume ¥, obtalned from a cube with
edge a>1 when a smalier cube with edge

| 2
— 5 removed. Volume of cube il is ¥ .
d

W=k = k=1

durypa 1. Guina colfand NyTitM yRANEHAR.
M3 KYTIA CO CTOPOHDIA & = | , wyba co

CTOPOHON & DEsém Gurypl Ha NEPBOM
a

PHCYHHE PaBHa ¥, a ofnim BTOPOTG
pucynna [xy6a | pasua ¥
vi=k¥, = k=1

Aya®—1
B) o 1
) a1
) o~}
£ a =l

T e (e TN
Lﬁ:'ﬁ

36. Dajal sayrlar kiimesi {izerinde,
f{n) = 3" + y islemi tanimianiyor:
Buna gore
fi1) =7ve f(2)=13 5o X ¥ =7

On the set of natural numbers, the
operation f(n) = gry 4 y s defined.
According ta this operatian, # =7
and f{2) =19, then x.¥ =7,

BO MHOMESCTRE ACHCTBHTRABHBIX yuoen
onpeaeneHa onepaHa fin) =3"x+ ¥
Mimen BEMAY, 470

=7 u f(2) = 19, naigure
oyl

A)'1
B) 2
€) 3
b} 4
£) 5

- b
po !

T
o

37. Tamsayilar kimesi Gzerinde = islemi,

ﬂ*i'_l='-{ a— I a=mh
Za + 6, a=b =

sekiinde tammlamyor, Buna gore;

(3 4 (=5)) = {(-.3}:1: 5} =
On the set of integer numbers, the
operation

e "-_h'l i< h
" h._{2ﬂ+ﬁ-, i==-h

5 defined.

(3 % (=5)) » ((=3) = 5) =7
By MAHOBECTEE Wb YWOER ONpHE O e H
ONEpALMR

el 'I'_bl 'ﬂ{h
- ﬁ‘[ P R

Wex0An W3 ATOMD HabgHTE:
(3 = (=53} = ((-3) + 5} =2

m.omnm e
AL, T I




138, Reel sayilar Kkimesi Uizerinde A islemi, 40,

DAY= 3Ix+ 5y F ¥ z
seklinde tanimlantyor. Buna gore ¥ 14
644 31= ? ¥ 10
. [h'h‘ﬂ‘iE-SEtﬂf-FEHi numbers, the operation 2 8
Ay =3x+ 5y
{sdefined. 64 AB1=7 Yukandaki tabloya go
x+y+z=1
Bo MHOMECTRE ARHCTOMTENbHBIX YHCEN Arcording to table above, what'is the value
ONPESRRAEHE ONepaLMa; of X+ y+z=?
Y Ay =3x+ 5y Mcxoas #3 BuIUeYRaZaHHOH Tainuup
Wckops w3 3roro Hakaure: 64 A 81=? nalipure x £y + 2 =1
A) 24 A) 70
B) 25 8} 18
€} 76 €) 16
o) 27 D). 14
E). 28 £} 12
39. Reel sayilar kilmesi Gzerinde * iglemi, 41. Ave i ayni E evrensel kiimesinin alt
3 2 kiimeleri olmak lizere,
Xay Xy s{A) + s(E\B) = 15

seklinde tammlaniyor. Buna gore 3 « 4 =7 s(EVA) + 5(B) = 23

On the set of real numbers, the aperation ise ${E) =7
3 s S | Let Aand B be the subset of the same E
Xy Xy universal set, if
s defined. 3+ 4 =7 s{Ay+ s{(E\B) = 15
; ' SsCENVAY 4 5Ty =723
O MHOMECTEE AEHCTEMTENLHEIN YHCEN Sl ke
onpenenReHa ONepayKna: then s{E) =2
Tay X i ¥ FHHUBEPCANLHOTO MHomecTsa E, Ecaun
Mexoan 3 31oro Haliaure 3 + 4 =7 (A + S(E\BY = 15
| s(E\A) + s(B) = 23

Al :

! ro Hakpure s(E) =7

et {5 - uMcno INEMENTOB MHOMWecTRa E)

8 s A 15

z _ B) 16
36 g1
i P18
36 “E} 19
j==
Rl
aﬂ'






B) x'sinxte
q sin X4 C05THE
D) cosx+c




6L x* +eosx+ y 4 =0

Q-'_IN -
ey i 2

1=
A —'—.2

| B s
B} —
g T

. 3...#-:
Blisse

=

|

m o
o Eem
Ll

s
€ 0




¥4 ye=gix)

Sekillerdekl y = f(x) ve y = g{x)

fonksiyorlannin grafiklerine gére
(g = £){~2) deferi nedir?

g nlang 10 the graphs of ti‘tefunﬁlms
- *:F f(-ﬂ and y = g{x) iustrated above:
l:ﬁﬁel'uf vﬂ'ﬂmfﬂﬁvﬂu&bf




W, g7
F o

71. x + ¥ — 3 = 0 dogrusuna paralel olan ve

(0,2} noktasindan gecen dogrunun :
denklemi asa@idakilerden hangisidir?

Which one is the equation of the line that
Is parallel to thelinex +y —3 = O and
passes through the point (0,2).

Kakan 3 HHume 3afaHHbix npAMbx Bydet
npoxoguT yepes rouwy (0,2) u Gyger
napanneabHa Knpamor x +y—3 = 0.

Ay =x—2
B y=—x—2
L) y==3x+72
D)y=—x+2
E)-yp=2x—3
tan40+1an B0

e,

" 1—tan40tan®80

A) O
B} 1
J3

C) —

D) V3
E) —/3

73.

Fu.

-
-\\,...-
K

¥ = f(x) fonksiyonunun tersinin grafigl
asafidakilerden hangisidir?

Which one Is the inverse of the function
y=fz)1

Cpeam HHMBYKAZAHHBIX rPadUROB,
HalauTe rpaduk oBpaTHOR HYHHLHM
y = f(x):

Y&

A Lt

} m;*
1
_A ¥
=4
¥ :
B} ¥=i{x)
X
=1




g o = =
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a0

ABJCD,

ADJBC,
A[ABCD) = 80 e’
AEAB) = 100 cm’
A(ABGF) = 7 cm®




?EI

sekilde O noktas cemberin merkezidir.

lin figure, O is the center point of the
circle)

| O - uenTp oxpyWHOCTH]
m(B) = 30"

m(FAD} = 15°
m(ECA) =x=1

A} 15
B} 30
C} 35
D} 50
E) &0

ABJCO,
ADFEC,
AD L DBC
|an) = JAH
B |EF| =3cm
gaBco) = ¢
et perimeter]
‘:; ';g [C-NepumeTP)
) 54
D) 58
€] 60

BO.

is

AR JDC
AD J BC
m{DAF) = m(FAB)
m(ABE) = m(CBE)

!H-Ei:g'ﬂm
|AB| =15cm
|EF| =x=?



